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A sum of money becomes 16 times itself in 2 years if compounded half-yearly. How
much time it will take to become 27 times if compounded yearly.

T G SreiaTiies w0 & S g1 uX 2 a6t § 16 AT 3y At 3. e w0 & waiir
B WA 27 TATEA # e ww e

(a) 3 years

(b) 4 years

(c) Syears

(d) 6 years...




Rs. 2500 was borrowed for 3 years. What will be the compound interest if the rate
of interest for the first year is 3% per annum, the second year is 4% per annum
and the third year is 5% per annum respectively?

2500 TUY 3 TH1 o ToTu IUR fe1u 1 o) afe yger a¥ o Torw st it 2 shusT: 3%
wifer o, qEC AT 4% Wi of fray ad & forg 5% wit ot @, o wewafy s
EATT?

(a) 311.90

(b)440

(c) 450

(d) 410.80




The difference between S.I and C.I on an amount of Rs. 30000 for 2 years is Rs. 147. What is
the rate of Interest?

HTIRUT ST SR Teha (g AT o ST 30000 T Y TR 2 a9 & foTg ok 147 7o 8. st
TWHRTE?

(a) 8 %
(b) 10 %

(©)9%
(d)7 %




If the ratio of the difference between S.I and C.I. for two years and 3 years is 4:13. Find
the rate of interest.
Af o 31 3 T§ % WTUROT AT & < & I HT AT 4:13 31 AT R AT Q)
(a) 20 %

(b)25 %

(c) 30 %

(d) 40 %




Rs. 39030 is divided between ‘a’ and ‘b’ in such a way that the amount given to ‘a’ on C.L
in 7 years is equal to the amount given to ‘b’ on C.I. in 9 years. Find the part of ‘a’. If the
rate of interest is 4%.

39030 TUY 1 'a’ AR 'b' & i 390 TR el ferar s @ e g ST @R 2 07
T § & 715 WY, TshafE AT WX b Y 9 AT H &Y TS I 6 SWIa 2. 'a' T WHT {14 i)
qfe ST hr R 4% Rl |
(a) 20200
(b) 20900
(c) 20280
(d) 20100




What will be the difference between simple and compound interest on a sum of Rs.
4500 put for 2 years at 5% per annum?

4500 TIX b T WX 5% Ufd a9 T X W 2 a9 o To7T T TT ATHAROT SATST AR
TShafg SAT o S T Sia ST g

(a) 12.45

(b) 12.95

(¢) 11.25

(d)10.25




The compound interest on a certain sum of money invested for 2 years at 5% per annum is
Rs. 328. The simple interest on the sum, at the same rate and for the same period will be?

i o 5% it A 2 Tt & forg P & 18 v e aftr w wswafy st 328 v02 &, wwm
o IR g ratr & fere afsr o avarmor st v gRT?

(a) 340

()320

(©)330 -]
(d)390
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A sum of Rs. 2000 amounts to Rs. 4000 in two years at compound interest. In how
many years does the same amount become Rs. 8000.

Tha g, SATST R 2000 TU <hY T 3 €t § 4000 TUA B Srelt 2. Foery it o =t wifvn

8000 TUX Bt AT 32

(a) 2

(b) 4 .]
(c)6

d)8




-n__,_--

A man lent Rs. 4500 at 30% compound interest per annum for 3 years. What is the difference

between the interest earned by the man in the 2nd year only and the interest earned by the

man in the 3rd year only?

Teh Sateh 3 AT o foTq o o 30% wrehalfeg ST 3hT X § 4500 TU IUT AT 2. hael T TS |
SR ZTT AT ST ST et ArE ad § =IhE FT i ST 3 dra T A F ey

A.Rs. 545.5

B. Rs. 502

C. Rs. 526.5

D. Rs. 532




The compound interest earned after three years and that earned after two years on
a certain sum of money, differ by Rs 5880. What is the principal sum of money if
the rate of interest is 16.67% p.a?

17 oot 3 g STfie Tshafeg ST oY St uek Ffara wist ux & o & ag erfdta g
2, ™ 5880 TUY T 3TN T 2. AT T T & 16.67% Tf o 7, a7 &1 1 qer qivr
FTE?

A. Rs. 27432

B. Rs. 25920

C. Rs. 26780

D. Rs. 29870



<

A sum of Rs 8448 is to be divided between A and B who are respectively 18 and 19 years
old in such a way that if their shares be invested at 6.25% p.a at C.I ,they will recieve equal
amount on attaining at the age of 21 yr find the share of A?

8448 TUA kY TIIT T A TR B ok st fararfSra feram S 8 <1t shuor: 18 3R 19 ad & &, At
Ik I T C.1. W 6.25% T I Y & FAasr forat Arat 2, a1 375 31T I A W au

ST OTe BT 21 I9 T A o7 (2691 FTa hiferr?
1. 4225
2. 4000
3. 4352
4. 4096




]

Mehak deposited a total of Rs 10500 with a bank in two different deposit schemes at 10% _
compounded annually . As per the schemes ,she gets the same amount after 2 years on the
first deposit as she gets after 3 years on the second deposit. How much money she deposited

for 3 years?

HEh A Ueh Sieh H G1 STERT-3TeTT STHT TSI H 10% ST6eh ashalfg ¥ U el 10500 & ST
ToRT| TISTATSAT o STTHR, 38 UgSAT STHT W W 2 ATA o &g Ia+1 &1 qhvr fueret § Rat 39 3
AT AT O TAT O Frerdlt 31 38 3 &t o fehen e s ferar?

1. 4500
2. 5000
3. 7200
4. 6500




A sum invested in C.I grows bt RS 2625 in 3 years.If the rate of interest is 16.67% for first
year, 20% fir 2"? year and 25% fir 3" year find the sum invested?

C.I ¥ Frarer &t 72 Uek 1T 3 9T H 2625 TUX ¢ AT 31 A ST W Uged a9 & 10 16.67% 2,
TE T o TAY 20% TR AEv o & o1y 25% 2 @ Faror ot 715 wfvr s &6l

A.5300

B.3530

C.3500

D.3545




After certain time ratio of principal and amount received is 4:7 and after 11 more years their ratio

becomes 3:8 .find the rate if principal was invested at S.I?
Ffara wwa o a1 Hete= ST TR [T T ST 4:7 7 IR 11 3T 91 o 918 ITeRT AT 3:8 F1 ATAT
31 Tl Werew ot S.1 X TareT ferar T o at 3t v he?

1. 8.38

2. 8.33
3. 633
4. 8.45







The simple interest and compound interest (compounded annually) on a certain sum of
money with a given rate for a period of 2 years are 900 and 954 respectively. The sum of

money is

we e afir w2 ad i srafar & forg & w8 @ wramur s SR TRt s (anfve w
| TRT) SHATT: 900 3R 954 3. g Frafdr
(1) 3700 (2) 3650 (3) 3850 (4) 3750







